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1) #7& MATLAB #3517 3138

2) ¥4 MATLAB & % (5 fn 4k iz &
3) ¥ MATLAB & 5 & ik R i 62
4) BT R K AR

SN A (FiE 6 8D

I A rand FR@H LTI EME: mE— {5 E (-5 5 Z EWEANE (50X2) ,
ERETHEEARHR DK R E L OF EEH 484 4 format)

format bank

a=-5; b=5;

r=a+ (b-a).* rand(50,2)

3. 19 —2.24
4. 06 1. 80
-3.73 1. 55
4.13 =3. 37
1.32 -3.81
—4. 02 -0. 02
—2. 22 4. 60
0. 47 -1. 60
4. 58 0. 85
4. 65 —2.76
—3. 42 2.501
4.71 —2. 45
4. 57 0. 06
-0. 15 1. 99
3. 00 3.91
—3. 58 4.59
—0. 78 0. 47
4.16 -3.61
2.92 -3. 501
4. 359 —2.42
1. 56 3.41
—4. 64 —2. 46
3. 49 3. 14
4. 34 —2. 56
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1.79 4.29
2.58 -1.50
2. 43 -3.03
-1.08 -2.49
1. 55 1. 16
-3.29 -0. 27
2. 06 —1. 48
—4. 68 3.31
—2.23 0.85
—4.54 0.50
4. 03 4. 17
3. 23 —2. 14
1.95 2. 07
-1.83 2. 54
4. 50 -1. 20
—4. 66 0. 68
—0. 61 —4. 24
-1. 18 —4. 46
2. 66 0.31
2.95 2.79
-3.13 4. 34
—0. 10 -3.70
-0. 54 0.69
1. 46 -0. 31
2. 09 —4. 88
2.95 -1.63

E—A-CamEEE T (100X1000 +, MKRETHELH 01T, HREINKEL N
0E9 5 (HBEFI TEAEL H O iE: BT, *(TC,D))ZEEH 0
T =rand(10,10);
T(3,:)=0;
T(:,4)=0;
[row,col] = size(T);
r=[Lc=1[1
for 1=row:-1:1

if(sum(T(1,:).*T(1,:))==0)

r(size(r)+1) = 1;

end
end
if(size(r))

T(r,:)) =[1;

end

[row,col] = size(T);
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for j = col:-1:1
if(sum(T(:,j).*T(:,j))==0)
c(size(c)+1) =j;
end
end
if(size(c))
T(:0) =1l
end
T =
Columns 1 through 4
0.83 0. 87 0. 14 0.49
0. 54 0. 08 0. 87 0. 34
0. 08 0. 26 0.55 0.37
0. 44 0. 80 0. 14 0.11
0.11 0.43 0.85 0.78
0. 96 0.91 0. 62 0.39
0. 00 0. 18 0.35 0.24
0.77 0. 26 0.51 0. 40
0.82 0.15 0. 40 0.10
Columns 5 through 8
0.13 0.17 0. 18 0.31
0.94 0.65 0. 37 0.51
0. 58 0.65 0.78 0. 82
0. 06 0. 45 0. 08 0.79
0.23 0.55 0.93 0. 64
0.35 0. 30 0.78 0. 38
0.82 0.74 0.49 0.81
0.02 0.19 0. 44 0.53
0. 04 0.69 0. 45 0.35
Column 9
0. 94
0. 88
0.62
0.59
0.21
0. 30
0. 47
0.23
0. 84
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2002 102 82
2003 120 100
2004 98 94
2005 105 97
2006 121 110

WA — A2 %8 STU R LR HIE, HFIHHEH T &K E:
(1) AEAR T 200272006 4 2 [o] 0y G F-FHH £, s AH
(2) bSHERAFREAL DRIV AE?
(3)  EW/LF, FELELELES?
(4) SFEREFHNEVENHTEN LG FHENT?
STU =[2002 102 82
2003 120 100
2004 98 94
2005 105 97
2006 121 110];
Ave Stu = round(mean(STU(:,[2,3])))
Sum_gra = sum(STU(:,3))

Ave Stu=
109 97

Sum gra =
483

STU radio = mean(STU(:,3)./STU(:,2))

STU radio =
0. 8859

4, TR TF|E Gz &
(1) A randn 4 —4 (10X10) W E[E A
(2)  WHEB= (A+A) /2 FER, B—EE— M HF
(3) WHEEBWRLEEE e ¢, ...e,, (A B eig)
(4) WIFEILETHRELT, eifFUejﬁ/ﬂWfFR%fé%O

A=randn(10,10)
B=(A+A"/2
C=eig(B)

A =
Columns 1 through 6

0.5377  —1.3499 0.6715 0.8884  -0.1022 —0.8637

1.8339 3.0349  -1.2075 -1.1471  -0. 2414 0.0774

—2. 2588 0. 7254 0.7172  -1.0689 0.3192 -1.2141




ot AR F T F iR LR X

0.8622 —0.0631
0.3188 0. 7147

.6302  -0.8095 0.3129 -1.1135
.4889  -2.9443  -0.8649  -0.0068
-1.3077  -0. 2050 . 0347 1.4384  -0.0301 1. 5326
-0.4336  -0. 1241 . 7269 0.3252 -0.1649  -0.7697
0. 3426 1.4897  -0.3034 -0.7549 0.6277 0.3714
3.5784 1. 4090 0. 2939 1. 3703 1.0933  -0.2256
2. 7694 1.4172  -0.7873 —-1.7115 1. 1093 1.1174
Columns 7 through 10
-1.0891  -0.6156 1.4193  -1.1480
0.0326 0. 7481 0.2916 0. 1049
0.5525  -0.1924 0. 1978 0. 7223
1. 1006 0. 8886 1. 5877 2. 5855
1.5442  -0.7648 -0.8045 -0.6669
0.0859  -1.4023 0. 6966 0. 1873
-1.4916  -1.4224 0.8351  -0.0825
-0. 7423 0.4882  -0.2437 -1.9330
-1.0616  -0.1774 0.2157  -0.4390
2.3505 -0.1961 -1.1658  —1.7947

Columns 1 through 6
0. 5377 0.2420  -0.7937 0.8753 0.1083  -1.0857
0. 2420 3.0349 -0.2410 -0.6051 0.2366  -0.0638
-0.7937  -0.2410 0.7172 0. 2807 0.4041  -0. 0897
0.8753  -0.6051 0.2807 -0.8095  —1.3157 0. 1624
0. 1083 0. 2366 0.4041 -1.3157 -0.8649 -0.0185
-1.0857  -0.0638  -0. 0897 0.1624 -0.0185 1.5326
-0.7613  -0. 0458 0. 6397 0.7129 0.6897  -0.3419
-0. 1365 1. 1189  -0.2479 0.0668 -0.0686 —0.5154
2. 4989 0.8503 0. 2458 1. 4790 0. 1444 0. 2355
0.8107 0.7610  -0.0325 0.4370 0.2212 0.6523
Columns 7 through 10
-0.7613  -0. 1365 2. 4989 0. 8107
—0. 0458 1. 1189 0. 8503 0.7610
0.6397  -0.2479 0.2458  -0.0325
0.7129 0. 0668 1. 4790 0.4370
0.6897  -0. 0686 0. 1444 0.2212
-0.3419 -0.5154 0. 2355 0.6523
-1.4916  -1.0823 -0.1132 1. 1340
-1. 0823 0.4882  -0.2105 -1.0645
-0.1132 0. 2105 0.2157  -0.8024
1.1340 -1.0645 -0.8024  -1.7947

—4.0702
—3.4514
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—1. 5577
—1. 2496
—0. 0343
0. 8496
1. 4875
2. 1549
3. 2486
4. 1882

5. T 7| MATLAB &4 A T EH &4 y(x) [12e2x £ [0, 104 E.,

x =0:0.1:10;
y = 2*exp(-0.2*x);
plot(x, y);
A A MATLAB #7 M- 45 4885 G2 — V3189 MU, A B R &, RAF A XH
testl.m. R/GHEHAHE I FIA testl HAT XA XM, BHREMF LER?
x =0:0.1:10;
y = 2%exp(-0.2*x);
plot(x, y);

1.g ]

L4

.2

0.6 ]
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6. 7% MATALB #5 B ih (& /7 -
D #ERUTHEMEXEFE KT exp &2 W B
(a) @A %E O FE N helpexp @ 4 ;
(b) ZRFEBZEEE D,
2) £ Al lookfor 4 4 &K H UL 10 Ry A4 B4k, FH1HH 1. 10, 1000 By 2 2

help exp
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EXP Exponential.
EXP(X) is the exponential of the elements of X, e to the X.
For complex Z=X+1*Y, EXP(Z) = EXP(X)*(COS(Y)+1*SIN(Y)).

See also EXPMI1, LOG, LOG10, EXPM, EXPINT.

Overloaded methods:
Iti/exp
codistributed/exp

Reference page in Help browser

doc exp
lookfor log10
logl0 - Common (base 10) logarithm.
LOG10 Common (base 10) logarithm.

LOGI10(X) is the base 10 logarithm of the elements of X.

Complex results are produced if X is not positive.

Class support for input X:
float: double, single

See also log, log2, exp, logm.

Overloaded methods:
codistributed/log10

Reference page in Help browser
doc logl10

log10(1)
log10(10)
log10(1000)
ans =

ans =

ans =

7. B%u=1f1v=3, JH MATLAB % S it & fi+E T 7| & ik & 9 H:
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a.4%v bove /G v)  evi /& (us)d.alde /3

a = 4*u/(3*v)

b= 2*vA(-2)/(utv)
¢ = v 3/(v*3-u™3)
d = 4*pi*v"2/3

q=
0. 4444

b=
0. 0556

c=
1. 0385

d=
37.6991

8. a=3,A=4b=a2, B=0b2-1,c=at+A-2B, C=a+B+2c C., (f& & = &% solve)
S = solve('a-3','A-4'",'b-a"2','B-b"2+1",'c-a-A+2*B','C-a-B-2*c");
C=S.C

C =
—-223

9.  REE A TE x =x"+x+1, x(0)=] x(0)=0 (/4 5 &% dsolve)
S = dsolve('D2x=-Dx+x+1', 'Dx(0) = 1, x(0) = 0")

S =
(5M(1/2)*exp(t*(5°(1/2)/2 - 1/2))*(5" (1/2) + 3))/10 +
(57N(1/2)*(57(1/2) - 3)/(10*exp(t*(57(1/2)/2 + 1/2))) - 1

10. MATLAB # By & 0 &R Bor S wf B K44
a) MATLAB B shitey B B K& A7

b) EE—HWE K mynewdir, FHERE AL EHF. AT M-XtHRETE 1,

B m DL T B A
% create an input array from -2*pi to 2*pi
t =-2*pi:p1/10:2*pi;
% calculate|sin(t)|
x=abs(sin(t));
%plot result
plot(t, x);

AL AL test2.m A X% R AT, ABEARAE D N test2 AT B X,

10
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t = -2%pi:pi/10:2%pi;
% calculate|sin(t)|
x=abs(sin(t));

%plot result

plot(t, x);

0.9 ]

0.8 ]
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c) X, REEGLE T FRA test2 KHE, A
/T‘}—‘ /A o
?77? Undefined function or variable ' test2'.

B % Matlab 4 4% 0 EHATH test2 EFEEFLHERT
B A

l. MATLAB ¥, HAGEMEERTS A EAHLEKXF,

THEHHME L THEME, FUEREEKANTE,

BATHERIGHAN N TEZ BIWNEHE, W ETH. EENTE, RAAREERRAEF
X, ATRBAN N TENITHE, FTURHERE, RAMGRENZERNRENMT —N A
RN HBA, LB, B, BRECESHHATER W,

EEREAEEIR: (DNTRE, AR EE-_NETE, FHMTHFERATTNTERFR
> XA BT EEEAETEEN, ERARERS, HHBERAN TEZEZE X, #EA
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